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ΘΕΜΑ Β 

Β1.  Α= (0, +). Για κάθε x 1 ,  x2  A με x 1<x2lnx1<lnx2  (1) 

𝑥ଵ < 𝑥ଶ ⟺
1
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>
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1
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1
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1
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Από (1)+(2):  

𝑙𝑛𝑥ଵ −
1

𝑥ଵ
+ 1 < 𝑙𝑛𝑥ଶ −

1

𝑥ଶ
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Άρα η f είναι       και ‘’1-1’’ στο Α. 

Β2.  

𝑙𝑛𝑥 −
1

𝑥
+ 1 < 0 ⟺ 𝑓(𝑥) < 𝑓(1)

௙↗
⇔ 𝑥 < 1 

Β3.  

𝑥 ⋅ 𝑙𝑛𝑥 + 𝑥 = 1 ⟺ 𝑙𝑛𝑥 + 1 =
1

𝑥
⟺ 𝑙𝑛𝑥 −

1

𝑥
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⟺ 𝑓(𝑥) = 0 ⟺ 𝑓(𝑥) = 𝑓(1)
௙:ᇲᇲଵିଵᇱᇱ
ሯልልልልሰ 𝑥 = 1 

 

ΘΕΜΑ Γ 

Γ1.  f(1)=2α-ln1=2α=2 



Γ2.  Για α=2: f(x)2-lnx 

f(x)>02-lnx>0 lnx<20<x<e 2 .  

Γ3.  A f=Ag= (0, +) 

Για κάθε  x(0, +): g(x)=ln௘మ

௫
= 𝑙𝑛𝑒ଶ − 𝑙𝑛𝑥 = 2𝑙𝑛𝑒 − 𝑙𝑛𝑥 = 2𝑙𝑛𝑥 = 𝑓(𝑥) 

Άρα f=g. 

Γ4. Για κάθε x>0: f(x)=h(x)  

2-lnx=2+ln2xln2x+lnx=0  

lnx(lnx+1)=0൞

𝑙𝑛𝑥 = 0 ⟺ 𝑥 = 1  ά𝜌𝛼 𝛢(1, 2)

ή
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ΘΕΜΑ Δ 

Δ1. 

𝛢௙௢௚ = ൛𝑥 ∈ 𝐴௚/𝑔(𝑥) ∈ 𝐴௙ൟ = ൝
𝑥 ∈ 𝐼𝑅

𝜅𝛼𝜄
𝑒௫ > 1

= ൝
𝑥 ∈ 𝐼𝑅

𝜅𝛼𝜄
𝑥 > 0

= (0, +∞) 

(𝑓𝑜𝑔)(𝑥) = 𝑓൫𝑔(𝑥)൯ =
𝑒௫ + 2

𝑒௫ − 1
 

Δ2.  Για κάθε x1 ,  x2(0, +) με (fog)(x1)=(fog)(x 2) 

⟺
𝑒௫భ + 2

𝑒௫భ − 2
=

𝑒௫మ + 2

𝑒௫మ − 1
⟺ (𝑒௫భ + 2)(𝑒௫మ − 1) = (𝑒௫మ + 2)(𝑒௫భ − 2) 

⟺ ⋯ − 3𝑒௫భ = −3𝑒௫మ ⟺ 𝑒௫భ = 𝑒௫మ ⟺ 𝑥ଵ = 𝑥ଶ 

Άρα η fog είναι ‘’1-1’’  και αντιστρέφεται.  

Δ3.  Θέτουμε 

𝑦 =
𝑒௫ + 2

𝑒௫ − 1
⟺ 𝑦(𝑒௫ − 1) = 𝑒௫ + 2 

⟺ 𝑦𝑒௫ − 𝑦 = 𝑒௫ + 2 ⟺ 𝑒௫(𝑦 − 1) = 𝑦 + 2
௬ஷଵ(ଵ)
ሯልልልሰ 

𝑒௫ =
𝑦 + 2

𝑦 − 1

௬ାଶ

௬ିଵ
வ଴ (ଶ)

ሯልልልልልሰ 𝑥 = 𝑙𝑛 ൬
𝑦 + 2

𝑦 − 1
൰ 

Ό𝜇𝜔𝜍 𝑥 > 0 ⟺
௬ାଶ

௬ିଵ
> 1   (3)        

Από (1), (2), (3) y  (1, +) 

Τελικά  

(𝑓𝑜𝑔)ିଵ(𝑥) = 𝑙𝑛 ቀ
௫ାଶ

௫ିଵ
ቁ , 𝑥 ∈ (1, +∞)                                                      


